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1. Basketball is a very ____ sport in the United States.

(1) short (2) popular (3) fat (4) broken
2. Smoking causes many serious ____ problems.

(1) hunting (2) health (3) flooding (4) umbrella
3. ____ thejacket was expensive, he decided to buy it.

(1) Due to (2) Near (3) Moreover (4) Although
4. Pizzaisa____Italian pastry.

(1) traditional (2) distant (3) transport (4) mental

5. Many couples today choose to have a non-religious wedding .

(1) frost (2) ceremony (3) crust (4) clan
6. Even though he was during the interview, he got the job.
(1) anxious (2) comfortable (3) brilliant (4) drafted

7. Many human rights organizations oppose .

(1) discrimination  (2) equality (3) forecast (4) creativity

8. people tend to be talkative and confident, and are not afraid to express their
emotions.
(1) Desperate (2) Extrovert (3) Furnished (4) Gilded
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9. Picking wild flowers is strictly ____.

(1) flammable (2) forbidden (3) bottled (4) summer
10. ____ their fellow bears polar bears do not hibernate during wintertime.

(1) Especially (2) Although (3) Until (4) Unlike
11. It is dangerous to ____ in the sea when the weather is stormy.

(1) block (2) create (3) swim (4) publish
12. Dogs are known for their ____; they are often called "man's best friend".

(1) hall (2) tent (3) grain (4) loyalty
13. The poems written by Emily Dickinson were ____ to many languages.

(1) pardoned (2) translated (3) worn (4) tickled
14. The aqueduct is one of the most____ inventions of mankind in ancient times.

(1) horrific (2) sophisticated  (3) mistaken (4) responding
15. Anti-Globalization activists are fighting against ____ of third world countries.

(1) exploitation (2) frequency (3) footprints (4) background
16. Smoking while pregnant harms not only the mother but also her ____.

(1) fetus (2) turmoil (3) glucose (4) synopsis
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17. Buddhists believe that the key to happiness is ____ inner peace.
(1) finding (2) riding (3) surfing (4) moaning
18. The common belief in ancient times was that the world is ____ rather than round.
(1) far (2) mysterious (3) flat (4) holy
19. There is nothing as ____as a long walk once in a while to relax muscle tension and lift
the spirit.
(1) dancing (2) worthless (3) dangerous (4) healthy

20). Although he preferred tragedy, Moliere became for his comedies.

(1) forgetful (2) exhausted (3) ridiculous (4) famous

21. Itis a known fact that the climate has been by the changes in solar radiation in
recent years.

(1) affected (2) digested (3) solved (4) discharged
22. Bacteria are so small that they can only be ____ by using a microscope.
(1) destroyed (2) disinfected (3) discriminated  (4) detected
23. In some parts of Thailand monkeys are considered to be ____ animals and must not be
harmed.
(1) sacred (2) secular (3) solar (4) serene
24. "Freedom, equality, fraternity" was the ____ of the French Revolution at the end of the

18" century.

(1) director (2) organism (3) slogan (4) interaction
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25.Israel leads the world in the percentage of scientists and technicians in the .

(1) cake (2) workforce (3) sun (4) canyons
26. The ____ of technology has resulted in vast changes in our society.

(1) successful (2) arrival (3) earth (4) helpful
27. The majority of pharmaceutical ____is in generic drug development.

(1) includes (2) translation (3) activity (4) anatomy
28. The ____into the death of the cricket coach has been postponed.

(1) inquest (2) include (3) invasion (4) institution
29. Candidates are _____ to run for President if they have no criminal background.

(1) agronomic (2) approachable  (3) bulimic (4) eligible

30. Egyptian Arabic is probably the most widely in the Arabic and Islamic world.

(1) united (2) undetermined  (3) unbelievable (4) understood

31. Everyone has the right to freedom of .

(1) expression (2) orchestra (3) popularity (4) extension
32. Many medical professionals the therapeutic qualities of horseback riding.
(1) recognize (2) reload (3) refer (4) depend
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33. He s very honest and willing to get to the heart of the matter regardless of the .

(1) dog (2) consequences  (3) area (4) crematorium

34. Whales and other marine mammals depend on , which travels much farther in
water than light does.
(1) sound (2) food (3) ships (4) salt

35. Although the theory of evolution can be somewhat difficult to understand, it is

fascinating.
(1) nevertheless (2) therefore (3) regardless (4) thus
36. Before the 19th century, when dinosaur bones turned up, they were taken as of

dragons, ogres, or giant victims of Noah's Flood.

(1) disproof (2) evidence (3) an example (4) given

37. Silkworms go through four stages of .

(1) expiry (2) environment (3) development (4) incentive

38. As aresult of Australia's booming economy, the cost of living in it is extremely high.

(1) poorly (2) extravagantly  (3) minimally (4) extremely

39. Over 800,000 people have been since the rebel group took up arms against the
government.

(1) distinction (2) displaced (3) disguised (4) displayed

40. It is quite common for a high-tech company to between 15 and 18 percent of the
budget in research and development.

(1) infiltrate (2) investigate (3) invest (4) incompetent
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1. Learning a language is easier for children than it is for adults.

(1) It is more difficult for adults to learn a language than it is for children.
(2) If adults learn a language, it is easy for children to learn it too.

(3) Adults find it easier to learn a language in comparison to children.

(4) It is easy to learn a language, both for children and adults.

2. Although Thomas Edison is known for inventing the light bulb, there are people who
claim that he merely improved a former invention.

(1) Many people think that Thomas Edison invented the light bulb; however, some
people claim that he only made improvements to it.

(2) In spite of the fact that Thomas Edison actually invented the light bulb, some
people argue that he simply improved it.

(3) Thomas Edison, the most important inventor of his era, is known for improving the
light bulb, rather than for inventing it.

(4) Many people made improvements to the light bulb, but Thomas Edison was the one
who invented it.

3. Although he State of New York consists mostly of forests, rivers and lakes, it is
famous for New York City's urban atmosphere.

(1) Due to the fact that New York State consists mostly of forests, rivers and lakes, it is
famous for New York City's urban atmosphere.

(2) New York State hardly has any forests, river and lakes, and is therefore known for
New York City's urban atmosphere.

(3) In spite of the fact that New York State consists mostly of forests, rivers and lakes,
it is known for New York City's metropolitan atmosphere.

(4) Some of the most beautiful forests, rivers, and lakes are located in New York State
and it is therefore known as New York City.
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4. Woody Allen's film, Match Point, which was released in 2005, is darker than his
previous films; however, it still received excellent reviews.

(1) Due to the fact that Woody Allen's latest film, Match Point, which was released in
2005, is particularly darker than his previous films, it did not receive any good
reviews.

(2) Woody Allen, who released the film Match Point in 2005, always received
excellent reviews, and most of his films are therefore a great success.

(3) Although Woody Allen's 2005 film, Match Point, is particularly darker than his
earlier films, it still received outstanding reviews.

(4) Many people did not watch Woody Allen's film, Match Point that was released in
2005 because they claimed it was darker than his previous films.
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Many people believe that nothing is more important in life than love.

(1) A large number of people believe that love is not as important as life.

(2) Many people believe that the most important thing in life is love.

(3) Although many people argue that love is important, it is not more important than
life.

(4) The majority of people believe that love is as important as life.

Many people believe that men do not care about their appearance; however, the large
number of men's fashion magazines shows that men's appearance is becoming more
important to them today.

(1) The large number of men's fashion magazines shows that men do not care about
their appearance today, although many people believe that they are concerned
about it.

(2) Most people believe that men care about their appearance, and the large number of
men's fashion magazines proves this is in fact the case.

(3) Although many people think that men do not care about their appearance, the large
number of men's fashion magazines today proves that their appearance is becoming
more important to them.

(4) Studies have shown that while men's appearance is currently becoming important,
the small number of men's fashion magazines proves that it was more important in
the past

7.

While some vegetarians do not eat meat since they believe it is morally wrong, others
avoid eating meat since they claim that it is not healthy.

(1) Most vegetarians do not eat meat since it is immoral, rather than because it is
unhealthy.

(2) Although vegetarians believe that eating meat is immoral, most people continue to
eat it since it is healthy.

(3) Some vegetarians believe that, although it is immoral, it is important to eat meat
since it is healthy.

(4) Whereas some vegetarians refrain from eating meat because they believe it is
immoral to do so, others refrain from eating meat because they believe it is
unhealthy.
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According to Israeli perspective, former Prime Minister Barak offered to return the
Gaza Strip and most of the West Bank to the Palestinians; however, some scholars
claim that these offers have no documentation.

(1) According to Israeli perspective, former Prime Minister Barak did not offer to
return the Gaza Strip and most of the West Bank to the Palestinians; however,
some scholars claim that there are documents to prove it.

(2) Although Israeli perspective claims that former Prime Minister Barak offered to
return the Gaza Strip and most of the West Bank to the Palestinians, some scholars
claim that these offers are not documented.

(3) According to both Israeli media, scholars have no proof that Barak, former Prime
Minister, offered to return the Gaza Strip and most of the West Bank to the
Palestinians; however, some documents prove that he did.

(4) While Israeli perspective claims that former Prime Minister Barak offered the Gaza
Strip and most of the West Bank to the Palestinians, some scholars claim that he
also offered other parts of Israel.
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9.

Although she dreamt of becoming an actress during her childhood, she later decided to
work as a lawyer.

(1) In spite of the fact that she dreamt of becoming an actress when she was a child,
she chose to work as a lawyer later on.

(2) Even though she worked as an actress during her childhood, she finally decided to
become a lawyer.

(3) Although she was offered a job as a lawyer, she decided to pursue her childhood
dream and become an actress.

(4) She had many dreams as a child, such as becoming an actress and working as a
lawyer.

10.

As aresult of his consistent nonviolent struggle against racial discrimination, Martin
Luther King was awarded the Nobel Peace Prize in 1964.

(1) Although Martin Luther King consistently fought against racial discrimination, he
did not receive the Nobel Peace Prize in 1964.

(2) Martin Luther King was awarded the Peace Nobel Prize in 1964, although many
people though that he did not deserve it due to his violent struggle.

(3) Martin Luther King received many awards due to his nonviolent struggle against
racial discrimination, including the Nobel Peace Prize.

(4) Due to his constant struggle against racial discrimination, Martin Luther King
received the Nobel Peace Prize in 1964.

11.

Although many people believe that it is impossible to make peace between cats and
dogs, they can actually learn to live together.

(1) Although many people believe that dogs and cats can get along, dogs can never be
trained to make peace with cats.

(2) Studies have shown that while dogs cannot live with cats, cats can learn to live
with dogs.

(3) In spite of the fact that a large number of people believe that it is not possible to
make peace between dogs and cats, they are able to learn to live together.

(4) Although dogs and cats have always lived in peace, many people believe that it is
impossible for them to live together.
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12. Sport in not only healthy for the body, but also for the mind - experts have shown that
sport decreases depression and anxiety by releasing certain chemicals in the brain.

(1) While sport is good for our physical health, it is not recommended for our mental
health because it increases depression and anxiety by releasing certain chemicals in
the brain.

(2) In addition to being healthy for the body, sport is also beneficial to our mental state
due to the fact that it releases certain chemicals in the brain, thereby diminishing
depression and anxiety.

(3) Experts have shown that certain chemicals in the brain cause depression and
anxiety, which negatively influence both our physical and mental state and are
connected to sport.

(4) If experts were able to show that sport decreases depression and anxiety by
releasing certain chemicals in the brain, then they would be able to prove that sport
is healthy not only for the body, but also for the mind.
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13. There is no doubt that eating is necessary for the body; however, excessive eating
causes obesity, heart disease and diabetes.

(1) Although eating causes obesity, heart disease and diabetes, excessive eating is
necessary for our body.

(2) Obesity, heart diseases and diabetes lead to eating disorders and harm the body.

(3) Whereas eating is certainly essential for one's body, overeating leads to obesity,
heart disease and diabetes.

(4) No one knows if eating is necessary for one's body or whether it causes obesity,
heart disease and diabetes.

14. The light bulb is only one of the great inventions of the 19" century.

(1) The 19" century was characterized by many great inventions.

(2) Light bulbs are manufactured since the 19" century.

(3) The most important invention of the 19™ century is the light bulb.

(4) There were many significant inventions in the 19" century, one of which is the
light bulb.

15. According to feminist theoretician Bell Hooks, feminism is neither an anti-male nor an
anti-family movement; the main aim of feminism is to end sexist oppression.

(1) Bell Hooks claims that feminism is an anti-male and anti-family movement; yet,
other theoreticians claim that its aim is to end sexist oppression.

(2) According to Bell Hooks, although feminism needs to fight against men and family
life, its main aim is to fight against sexist oppression.

(3) According to the most recent theories of Bell Hooks, while feminism's goal in the
past has been to fight against men and the family, its goal today is to end sexist
oppression.

(4) Bell Hooks, a feminist theoretician, claims that the major goal of feminism is to put
an end to sexist oppression rather than to fight against men and the family.

16. Queen Victoria of England was the first woman to wear a white dress at her wedding,
which henceforth became a tradition.

(1) Most brides wore white dresses before Queen Victoria got married in a white
wedding dress.

(2) The tradition according to which brides to wear white gowns at their wedding did
not exist Before Queen Victoria wore a white dress at her wedding.

(3) It was already a tradition for brides to wear white dresses at their wedding when
Queen Victoria got married wearing a white dress according to tradition.

(4) Women who came to Queen Victoria's wedding wore white dresses.
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17. Except for occasional injuries, skiing is a highly enjoyable sport.

(1) Skiing is very enjoyable because it might cause injuries.

(2) An enjoyable sport such as skiing is one that does not cause injuries.
(3) Skiing is a very pleasurable sport although it might cause injuries.
(4) Skiing is the most pleasurable sport and the most dangerous.

18.

Workers in ancient Rome were paid in salt because it was extremely valuable.

(1) Salt was used in meals made for workers in ancient Rome.

(2) Workers in ancient Rome were considered very valuable because they were paid in
salt.

(3) In ancient Rome only valuable workers were paid in salt.

(4) Because salt was highly valuable in ancient Rome, it was used as means of
payment for workers.

19.

Researchers claim that man made bread as early as the Neolithic era.

(1) According to researchers, bread was produced since the Neolithic era.

(2) Researchers have found that bread was produced earlier than the Neolithic era.

(3) Bread was only baked during the Neolithic era, researchers claim.

(4) The Neolithic era is unique for being the exact time in history when bread was first
produced.

20.

During World War II, penicillin, which was discovered eleven years earlier, made a
major difference in the number of deaths among soldiers of the allied forces, saving the
lives of about 12 to 15 percent of wounded soldiers.

(1) If penicillin would have been discovered earlier, there would be as many as 12 to
15 percent more dead soldiers amongst the allied forces.

(2) The discovery of penicillin during World War II saved the lives of as many as 15
percent of the soldiers wounded during the war.

(3) Penicillin, which was discovered eleven years earlier, saved the lives of World War
IT allied forces, but not the lives of other soldiers.

(4) Penicillin, which saved the lives of as many as 12 to 15 percent soldiers serving in
the allied forces during World War 11, was discovered eleven years before the war
erupted.
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A large part of the pet overpopulation problem is caused by pet owners
failing to spay or neuter their animals. Many people tend to think that cats and
dogs can survive by hunting for food. The fact is they cannot. They end up
starving, disease ridden or getting hit by cars - dying young after much
suffering. The lucky animals end up in shelters, where they might find a home.
However, more often they are put to death because the shelters cannot cope with
the number of unwanted animals brought in.

One must understand is that getting cats off the streets does not solve the
problem - there will only be more cats to replace them at a later stage. In an
effort to control the overpopulation problem, in one or two cities, Tel Aviv
included, cats are caught and spayed by the local municipality, and then
returned to the streets. Some people try feeding stray cats in the area, but
without sterilization, cats will keep breeding and the numbers will keep
multiplying.

The solution is simple and obvious: be responsible when adopting an
animal. This means not only feeding it, but also spaying or neutering it to
prevent cruel overpopulation and unnecessary suffering. Some veterinarians are
willing to spay or neuter for less than half the regular price. The benefits of
spaying are not only that you save countless lives by preventing more unwanted
animals being born. A spayed dog or cat does not attract hordes of male animals
and also tends not to roam.

IMINVA

The text is mainly about -

(1) irresponsible pet owners resulting in animal overpopulation
(2) human overpopulation in Tel Aviv

(3) the breeding habits of cats and dogs

(4) the pros and cons of owning a pet
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2. It can be inferred from the second paragraph that cats in Tel Aviv are -

(1) caught and sent to the local municipality

(2) captured, fed, bathed and returned to the streets
(3) captured, spayed and then put back on the streets
(4) fed in order to help them breed

3. Inline 16, “it” refers to -

(1) an adopted animal

(2) the solution

(3) cruel overpopulation
(4) spaying and neutering

4. 1t can be inferred by the text that -

(1) it is cruel to spay and neuter animals

(2) there is no solution to the pet overpopulation problem

(3) there are no benefits to spaying and neutering animals apart from preventing
overpopulation

(4) there are other benefits to spaying and neutering animals apart from preventing
overpopulation

5. An appropriate title for this text would be -

(1) Spaying and neutering is cruel
(2) Let nature take its course

(3) Responsible pet care

(4) Overpopulation around the world
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During 1979 to 1989, the demand for ivory had a severe effect on
diminishing and, in fact, halving the elephant population in Africa. The ivory
trade ban at the Convention on International Trade in Endangered Species
(CITES) in 1990 helped immensely in stabilizing the situation by controlling

3) international trade in exotic animals. However, even though poaching and
killing an elephant is illegal in Africa, the slaughter had not stopped, partly due
to urban sprawl and humans encroaching on the elephants’ land.

Elephants are not the only animals that are poached. Deer, grizzly bears,
monkeys, turtles, birds, sea sponges and shells as well as various plants are all
(10)  poached. The elephant is poached for its tusks and the rhino for its horn. Exotic
animals are killed for their fur while some animal parts, including those of many
endangered species such as the tiger, are used as ingredients in traditional Asian
medicine. The animal trade industry is simply animal abuse, resulting in the
inhumane treatment of millions of animals every year and threatening the
(15)  survival of many species.

The general public is often not aware of how these wild animals are taken
from their natural habitats. By purchasing an exotic animal or an ornament or
medicine made from animal parts one encourages the exploitation of the wildlife
population, and their extinction in some cases. Wild animals should be left in

(20)  their natural environments. The physical and psychological torture inflicted on
these animals cannot be justified and should not be tolerated.

NNV
According to the first paragraph, from 1979 to 1989 -

(1) the elephant population in Africa was reduced to half due to the demand for ivory
(2) the demand for ivory was halved

(3) ivory was severely affected by the elephant population in Africa

(4) ivory diminished the halving of the elephant population in Africa

It can be inferred from the text that CITES -

(1) banned the convention on international trade in endangered species
(2) helps hunting down animal poachers

(3) helps to stop animal poaching

(4) increased trade in exotic species
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8. According to the last paragraph, the general public -

(1) is conscious of the conditions under which animals are taken from their habitat

(2) can help stop the inhumane treatment of animals by not buying items made of
animal parts

(3) should purchase only ornaments or medicines made from exotic animals in order to
prevent animals being mistreated

(4) should encourage the exploitation of the wildlife population

9. Inline 19, “their” refers to -
(1) the wildlife population
(2) the animal parts
(3) the general public
(4) some cases

10. An appropriate title for this text would be -

(1) The wonders of traditional Asian medicine
(2) Stop the torture!

(3) The illegal killing of elephants in Africa
(4) The pros and cons of animal trade
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In ancient Egypt, religion was based on a collection of myths and nature
worship. Different kings worshipped different gods. Which god was dominant
depended on which king was reigning at the time, but each god took on human
traits. The ancient Egyptians believed in their gods and worshipped them
devoutly. Their life revolved around the gods. Everything had a spiritual
meaning and a specific god was designated to every occurrence.

Ra, the sun god, came out of an egg and ruled over all, and was thus
worshipped by all. However, as time went on and different groups gained power
in ancient Egypt, Ra and Amun were merged, and Amun-Ra became the chief
god.

Animals were considered to be the incarnation of a gods or goddesses. The
ancient Egyptians thus held a particular animal sacred and honored it in an
attempt to please the god or goddess associated with that animal. Ra, the sun
god was often depicted as a hawk, while Hathor, the goddess of joy,
motherhood and love, was depicted as a cow. Seth, the god of evil, was depicted
as a pig, and Ma’at, the god of justice, was depicted as a woman sitting with an
ostrich feather as a headdress.

The ancient Egyptians also believed in life after death. The dead person was
thus preserved by mummification. It was thought that when a person died, two
spirits were released, Ka (life force) and Ba (the individual personality of the
person that had died). The dead body thus had to be preserved in its
recognizable form so that these two spirits could survive.

MINVA

11. The text is mainly about -

(1) the worship of animals in ancient Egypt
(2) the beliefs of ancient Egyptians

(3) Greek mythology

(4) the Egyptian god of all things
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It can be inferred from the second paragraph that -

(1) Ra was the chief god, but Ra and Amun were later united

(2) Amun was the sun god and Amun-Ra was the chief god

(3) Ra came out of an egg and was thus considered to be the sun god
(4) Amun gained power over Ra in ancient Egypt

13.

In line 12, “it” refers to -

(1) an ancient Egyptian
(2) an animal

(3) a god or goddess
(4) an attempt

14.

According to the third paragraph -

(1) Ma’at was portrayed as an ostrich feather
(2) Ra was pig

(3) Hathor was a hawk

(4) Hathor was portrayed as a cow

15.

It can be inferred from the last paragraph that -

(1) Two spirits were released from the afterlife when a person died
(2) A body had to be mummified in order to continue living

(3) Mummification preserved the body after death

(4) Every dead person needed to worship a mummy
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Despite the extreme conditions in the desert, some reptiles, mammals and
plants have adapted to live with the lack of water and the hot sun. Many
mammals and reptiles are active only in the early morning and evening, and
others are active only at night when the temperatures are cooler. Snakes and
bats, for example, are completely nocturnal.

Some small animals, like rodents, burrow under the soil to keep cool, while
dessert toads stay inactive deep underground until it rains. They then breed and
restock on food and water in preparation for another long dormant period. Birds,
such as vultures and storks can also be found in the dessert. They tend to glide
high on thermals of cool air and urinate on their legs to stay cool - a behavior
called urohydrosis.

Even though the black vulture is dark in color, most desert animals are light
colored, thus absorbing less heat. Their light color also helps them blend into
the environment and protect them from predators. Some creatures have even
found ways to “recycle” water in the desert. Insects get water from the cactus
plants found in the desert, while certain rodents live underground and “recycle”
moisture from their urine or from their own breathing.

The food chain in the desert starts with the plants, which are eaten by plant-
eating animals. The herbivores are then eaten by the carnivores, die after a few
years, and are eaten by scavengers. Nutrients from what remains go back into
the soil, and the process starts all over again.

MINVA

16. Inline 1, “despite” can be replaced with -

(1) in fact

(2) regardless of
(3) because of
(4) however

17. It can be inferred from the first paragraph that desert snakes and bats -

(1) are active in the early morning

(2) are active exclusively at night

(3) are active when the temperatures are cooler
(4) are completely inactive at night
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18. According to the third paragraph -

(1) the majority of desert animals are pale in color

(2) the black vulture absorbs less heat

(3) desert animals are light colored to protect them from the black vulture

(4) the main reason that desert animals are light colored is for water recycling

19. The conclusion reached in the text is that -

(1) urohydrosis is the sole solution for animals in order to live in the desert
(2) all animals can adapt to live in the desert

(3) the food chain is what enables animals to live in the desert

(4) many animal species have adapted to live in the harsh desert ecosystem

20). An appropriate title for this text would be -

(1) Desert life

(2) Is there life in the desert?

(3) Recycling water in the desert
(4) Nocturnal animals in the desert
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While most people in the world have a fear of one thing or another, not
every fear is a phobia. A phobia is an excessive or unreasonable fear of an
object, place or situation, and even though not everyone suffers from phobias,
they are in fact very common.

Some phobias are specific, such as agoraphobia (fear of crowds),
ophidiophobia (fear of snakes), or aviophobia (fear of flying). Phobias include
physical symptoms of anxiety such as rapid heartbeat, shortness of breath,
sweating, chest pain, and trembling. Some people even lose control or faint.
Phobias may start for no apparent reason, or may start after a traumatic event,
and most people deal with their phobias by simply staying away from whatever
it is they fear. This can actually make matters worse.

Confronting the feared situation is the best way of handling it. For example,
someone suffering from ophidiophobia would be advised by a counselor to
confront snakes in stages. Advice would include starting to read about snakes
and proceeding to handling a plastic snake. Thereafter, looking at a snake in a
terrarium and touching the glass, taking the snake out of the terrarium and
observing it from a distance, and finally touching it. When anxiety arises,
rationalize the situation. For example: I am terrified, I identify this feeling as
anxiety, but this snake is not poisonous and cannot harm me. Even though
phobias have a deep impact on a person’s life, they can be cured, and
acknowledgement of any progress is extremely important.

MINVA

The text is mainly about -

(1) dealing with the fear of snakes

(2) uncontrollable, irrational fears

(3) the physical symptoms accompanying phobias
(4) ophidiophobia
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22. 1t can be inferred from the second paragraph that -

(1) phobias are accompanied by physical indications of fear

(2) only agoraphobia, ophidiophobiaes and aviophobia are specific phobias

(3) only agoraphobia, ophidiophobiaes and aviophobia include physical symptoms
(4) every phobia results in losing control or fainting

23. Inline 11, “this” refers to -

(1) a traumatic event

(2) avoiding the feared object, place or situation
(3) afear

(4) most people

24. The conclusion reached in the text is that -

(1) phobias cannot be cured by rationalizing them
(2) ophidiophobia cures the fear of snakes

(3) snakes are poisonous

(4) phobias can practically be cured if confronted

25. The purpose of the last paragraph is to -

(1) explain the stages of treating a phobia

(2) state the fact that phobias are incurable

(3) allow people that dramatic treatment is the best way to deal with phobias
(4) list many phobias that can be cured by rationalization
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The Dead Sea is so named because nothing lives in it. However, this is not
entirely true. There are bacteria and microorganisms, such as Dunaliella, which
is a source of natural beta carotene, that have adapted to live in the Dead Sea.
Even though scientists have been studying the uniquely salt-tolerant Dunaliella

3) for the last 30 years, the reason for their successful adaptation to salt has yet to
be discovered.

The Dead Sea is the saltiest seas in the world, and six times saltier than any
other sea. The reason for this is that it is has no outlets and is completely
landlocked. The salt content of the Dead Sea makes up over 20% of this body of

(10)  water. This high concentration of salts makes the water very dense, which
means that you cannot really swim in the Dead Sea, but float like a cork. No fish
or seaweed can be found living there. White crystals of salt can be seen covering
the shore as well as black mud.

The salts found in the Dead Sea are mineral salts, including sodium,

(15)  magnesium, calcium, bromine, bitumen and potassium. Some nourish the skin,
activate circulatory systems and ease rheumatic discomfort. Dead Sea minerals
are recognized for their rich therapeutic qualities. In fact, the Dead Sea is the
largest natural spa in the world. The unique mineral-rich area, along with the
fact that it is the lowest point on Earth -400 meters below sea level - makes the

(200  Dead Sea an attraction for visitors from all over the world.

NNV
26. Inline 1, “however” can be replaced with -

(1) unless

(2) nevertheless
(3) in addition
(4) moreover

27. 1t can be inferred from the first paragraph that the Dead Sea got its name because -

(1) nobody lives there

(2) no fish or seaweed live in it
(3) nothing can adapt to live in it
(4) people bury their dead in it

28. According to the second paragraph -

(1) the high dilution of salt is what makes one buoyant in the Dead Sea

(2) concentrating near the Dead Sea is what makes one float

(3) one can float in the Dead Sea because there are no fish or seaweed living in it
(4) the water is dense in the Dead Sea, which is why everyone can swim in it
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29. According to the text, the Dead Sea is -

(1) a few meters above sea level
(2) well above sea level
(3) a few meters below sea level
(4) well below sea level

30. It can be concluded from the text that the Dead Sea -

(1) has healing qualities

(2) is 400 meters below sea level and therefore difficult to visit
(3) has many spas

(4) has many attractive visitors
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